10.

L

12.

APPOLO STUDY CENTRE
Numbers and sequence
Multiple choice Questions

Euclid’s division lemma states that for positive integers a and b, there exist unique

integers ¢ and r such that a = bg + r, where r must satisfy.
(1)1 <rdh (2) 0 < r<h 3)0<r<d (4)0<r<b
Using Euclid’s division lemma, if the cube of any positive integer is divided by 9 then

the possible remainders are
(1)0,1,8 (2)1,4,8 (3)0,1,3 (4)1,3,5

If the H.C.F of 65 and 117 is expressible in the form of 65m — 117, then the value of m is

(1) 4 (2) 2 (3)1 (4) 3

The sum of the exponents of the prime factors in the prime factorization of 1729 is
(L) (2) 2 (3)3 (4) 4

The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is
(1) 2025 (2) 5220 (3) 5025 (4) 2520

7 = (mod 100)

(11 (2) 2 (3) 3 (4) 4

Given £ =1, F,=3and F =F ,+F , then E is

(1)3 (2)5 (3)8 (4)11

The first term of an arithmetic progression is unity and the common difference is 4.
Which of the following will be a term of this A.P

(1) 4551 (2) 10091 (3) 7881 (4) 13531

If 6 times of 6™ term of an A.P is equal to 7 times the 7% term, then the 13% term of the A.P.is
(1)0 (2)6 (3)'7 (4) 13

An A.P consists of 31 terms. If its 16™ term is m, then the sum of all the terms of
this A.P. is 31
(1) 16 m (2) 62 m (3) 31 m (4) ? m

-

In an A.P, the first term is 1 and the common difference is 4. How many terms of
the A.P must be taken for their sum to be equal to 1207

(1)6 (2) 7 (3)8 (4)9

If A=2% and B=2% +2% + 2% + + 2° which of the following is true?
(1) Bis 2% more than A4 (2) A and B are equal

(3) Bis larger than A by 1 (4) A is larger than Bby 1
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13. The next term of the sequence — . l L L -+ 18
16812 18"
1 1 2 1
1) — 2) — 3) — 4) —
(1) 5 (2) = ( ) (4) =
14. If the sequence t,t,¢,... are in A.P. then the sequence #,¢ .t ,... is
(1) a Geometric Progression (2) an Arithmetic Progression

(3) neither an Arithmetic Progression nor a Geometric Progression
(4) a constant sequence

15. The value of (1’ +2° +3* + .- +15°)—(1+2+3+---+15) is
(1) 14400 (2) 14200 (3) 14230 (4) 14520
Ans
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

3 Ololele 0le elololee ol @l

¢
—
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Algebra

A system of three linear equations in three variables is inconsistent if their planes

(1) intersect only at a point (2) intersect in a line

(3) coincides with each other (4) do not intersect

The solution of the system z +y -3z =-6, —Ty+72=7, 32=9 is
(1) =14y =2 #=3 (2) 2=-1, y=2,5%=3

3) z=-1Ly=-2,2=3 (4) =19 =2 =3

If (zx —6) is the HCF of 2 —2z —24 and 2° — kx — 6 then the value of kis

(1) 3 (2) 5 (3) 6 (4) 8
3y—3 Ty ;7 is
y 3y’ , .
9 9y’ 21y° — 42y + 21 (> — 2y +1
1% @ (W B ) T -]
7 (21y —21) 3y Y
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5.

6.

10.

w8

12.

13.

>, 1 .
Yy~ +— is not equal to

9 5

(1) 2= (2) |y + —] (3) [y~- —] +12 (4) {y-i-- —] —2
Y y y Yy
T :
= —r— gives
=20 #"+65+9
" — Tz +40 2 + Tz +40
(1) (2)
(z —5)(z +5) (z—5)(x+5)(z+1)
* — 7z + 40 z® +10
(3) — (4) —
(z° — 25)(z +1) (2" —25)(z +1)
3,410
The square root of 256]’% is equal to
2527y 2
16z°2* . | 16y° 16y 1622°
1 2 3 4
Ol ()[] (3) W] @ |5

Which of the following should be added to make z* + 64 a perfect square
(1) 427 (2) 162° (3) 8z2° (4) —82

The solution of (2.r — 1)2 =9 is equal to

(1) —1 (2):2 (3) 1.2 (4) None of these
The values of aand b if 42" — 242° + 762” + az + b is a perfect square are

(1) 100,120 (2) 10,12 (3) —120,100 (4) 12,10

If the roots of the equation ¢°z° + p*z + r* =0 are the squares of the roots of the
equation gz* + pz +r =0, then ¢, p, r arein

(1) A.P (2) G.P (3) Both A.Pand G.P (4) none of these
Graph of a linear polynomial is a

(1) straight line (2) circle (3) parabola (4) hyperbola

The number of points of intersection of the quadratic polynomial (z +2)* with the
X axis.

(1)0 (2) 1 (3)0or 1 (4) 2
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14.

16.

17.

18.

1 85 7
For the given matrix A=|2 4 6 8| the order of the matrix A is
9 11 13 15

(1) 2%3 (2) 3 x2 (3) 3x4 (4) 4x3

If Aisa 2x3 matrix and Bisa 3 x4 matrix, how many columns does AB have
(1)3 (2) 4 (3) 2 (4) 5

If number of columns and rows are not equal in a matrix then it is said to be a
(1) diagonal matrix (2) rectangular matrix
(3) square matrix (4) identity matrix

Transpose of a column matrix is

(1) unit matrix (2) diagonal matrix
(3) column matrix (4) row matrix
1 3] (5 7
Find the matrix X if 2X +|_ _] =[ r]
9 7 9 5
(1 -2 =2 @ 2 2 (3) 1 ” 2 1
)2-1 )2“1 . ()22
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19. Which of the following can be made from the given matrices

4 2 1 2 3
A=|3 4|,B=|4 5 6|, (i) A? (ii) B* (iii) AB (iv) BA
5 6 7 8 9
(1) (i) and (ii) only (2) (ii) and (iii) only
(3) (ii) and (iv) only (4) all of these
. 1. 2 3 = 0 1 .
20. If A= o o wlf B=12 —1| and C=| | ! . Which of the following statements
‘ 0 2 T
. 0 1
5
are correct? (i) AB+C :[_ 5) (ii) BC=| 2 -3
O i
-4 10
i) BA+C =] > w) aBc=| > %
(ili) BA+C = - (iv) A=l e
(1) (i) and (ii) only (2) (ii) and (iii) only
(3) (iii) and (iv) only (4) all of these L
Ans:

1 |23 4[5)6 (7|89 ]10]11[12]13]14[15[16]17|18(19]20
(O[22 (A (23] (3D [ (2D [ (1) | (2D [ (3) [ (2) | (2) | (4D [ (2) | (2)] (1)
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Geometry

1. Ifin triangles ABCand EDF, 4B _ 30 then they will be similar,
DE FD
when
(1).£B =#F (2) LA = LD (3) ZB'=¢D (4) LA=LF

In ALMN, ZL=60°% ZM =50°.1If ALMN ~ APQR then the value of ZR is
(1) 40° (2)707 (3) 30° (4) 110°

If AABC is an isosceles triangle with ZC =90° and AC = 5 cm, then AB is

(1) 2.5 cm (2) 5cm (3) 10 cm (4) 5\/5 cm

In a given figure ST ||QR, PS =2 cm and SQ =3 cm. Q

Then the ratio of the area of APQR to the area of APST is

(1) 25 - 4 (2)25 -7

(3) 25 - 11 (4) 25 - 13 P T R

The perimeters of two similar triangles AABC and APQR are 36 cm and 24 cm
respectively. If PQ = 10 cm, then the length of ABis

106

2 i 2
(1) 65 cm (2) - cm (3) 663 cm (4) 15 cm

If in AABC, DE|BC. AB=36 cm, AC =24 cm and AD =2.1 cm then the
length of AEis

(1)1.4 cm (2)1.8cm (3) 1.2cm (4) 1.05 cm

Ina AABC, ADisthebisectorof /ZBAC .If AB=8 cm, BD =6 cm and DC =3 cm.
The length of the side AC'is

(1) 6 cm (2) 4 cm (3) 3¢cm (4) Scm
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10.

|4

12.

13.

14.

I'S.

In the adjacent figure ZBAC =90° and AD 1 BC then
(1)BD-CD = BC* (2) ABAC = BC?
(3)BD-CD = AD? (4) AB-AC = AD?

B D c
Two poles of heights 6 m and 11 m stand vertically on a plane ground. If the distance
between their feet is 12 m, what is the distance between their tops?

(1) 13 m (2) 14 m (3) 15m (4) 12.8 m
In the given figure, PR=26cm, Q@R =24cm, P
ZPAQ =90°, PA=6 cm and QA =8 cm. Find ZPQR .
(1) 80° (2) 85° (3) 75° (4) 90°
R Q

A tangent is perpendicular to the radius at the

(1) centre (2) point of contact (3) infinity (4) chord

How many tangents can be drawn to the circle from an exterior point?
(1) one (2) two (3) infinite (4) zero
The two tangents from an external points P to a circle with centre at O are PA and

PB. If ZAPB = 70° then the value of ZAOB is
(1) 100° (2) 110° (3) 120° (4).130°

In figure CP and C'(@) are tangents to a circle with centre at O.
ARB is another tangent touching the circleat R. If CP =11 cm
and BC' =7 cm, then the length of BR is

(1) 6 cm (2) 5cm
(3) Scm (4) 4 cm
P R
In figure if PR is tangent to the circle at P and O is the
centre of the circle, then ZPOQ is
(1) 120° (2) 100° )
(3) 110° (4) 90° Q
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Ans:

(3)

(2)

(4)

(1)

(4)

(1)

(1)

(4)

(4)

(1)

9|PageWWW.APPOLOSUPPORT.COM




Coordinate Geometry

The area of triangle formed by the points (-5.0) , (0,-5) and (5,0) is
(1) O sq.units (2) 25 sq.units (3) 5 sq.units (4) none of these

A man walks near a wall, such that the distance between him and the wall is 10 units.
Consider the wall to be the Y axis. The path travelled by the man is

(1):z =10 (2) y=10 (3) & =0 (4) y=0

The straight line given by the equation » =11 is

(1) parallel to X axis (2) parallel to Y axis

(3) passing through the origin (4) passing through the point (0,11)

If (5,7), (3,p) and (6.,6) are collinear, then the value of p is

(1) 3 (2) 6 (3) 9 (4) 12

The point of intersection of 3z —y =4 and z +y = Sis

(1) (5.3) (2) (2,4) (3) (3.5) (4) (4.4)

The slope of the line joining (12,3), (4,a) is é The value of ‘@’ is

Iy (2)4 (3) =5 (4) 2

7. The slope of the line which is perpendicular to line joining the points (0.0) and

(-8,8) is i
(1)-1 (2)1 (3) 3 (4) -8

If slope of the line PQ is 2 then the slope of the perpendicular bisector of P(Q is

J3

1
(1) V3 (2) —3 6 = (4)0
3
If A is a point on the Y axis whose ordinate is 8 and B is a point on the X axis whose

abscissa is 5 then the equation of the line AB is
(1) 8z + 5y = 40 (2) 8z — 5y =40 (3) =28 (4) y=5
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10.

L1

12,

14.

15,

Ans:

The equation of a line passing through the origin and perpendicular to the line
Tc—3y+4=01s

(1) 7z2—-3y+4=0 (2)3z—-T7y+4=0 (3)3z+7y=0 (4) 7z -3y =0
Consider four straight lines

(i)l :3y=4x+5 (ii) [, :4y=3z—1 (iii)) 4, :4y+3z2=7 (iv) [ :4x+3y=2
Which of the following statement is not true ?

(1) I, and I, are perpendicular (2) {, and [ are not parallel

(3) I, and [, are not perpendicular (4) I, and [, are not parallel

A straight line has equation 8y = 4z + 21. Which of the following is true

(1) The slope is 0.5 and the y intercept is 2.6

(2) The slope is 5 and the y intercept is 1.6

(3) The slope is 0.5 and the y intercept is 1.6

(4) The slope is 5 and the y intercept is 2.6

When proving that a quadrilateral is a trapezoid, it is necessary to show

(1) Two lines are parallel.

(2) Two parallel and two non-parallel sides.

(3) Opposite sides are parallel.

(4) All sides are of equal length.

When proving that a quadrilateral is a parallelogram by using slopes you must find
(1) The slopes of all four sides

(2) The slopes of any one pair of opposite sides

(3) The lengths of all four sides

(4) Both the lengths and slopes of all four sides

(2, 1) is the point of intersection of two lines.
1)z-y—-3=0; 3z—y—-7=0 2) z4+y=3;3z+y="7
3)3z4+y=3; z+y="7 4) z2+3y—-3=0, z—y—-7=0

2 3 t 5 & 7 8 9 10 11 | 12 | 13| 14 | 15

(2)

Dol l@wlolololoe [eololo]o
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10.

eTeRIsBEmLD  OFHTL Teuflena &emLd

W &aNig6ll UGHHR HIDaTS CGIDDFHIHET Uy, o LOHMID b 6D DS (PRESEHES,
safllss Hens WPsseT ¢ LOHMID r.a = by + r asTpanm Senwuoname, Bwe r
SHEOTH,

(11<r<h (2)0<r<bh (3)o<r<b (4)0<r<b

W, Safig 6T QUG SHHD HIEDEH BHHNHEDIL LLSTUGSE , 6HS LD S (W(QESET &H60THEDIUILD
056 UGHSL Gung AL &S WHSET

(1)0,1,8 (2)1.4,8 (3)0,1,3 (4) 1,8.5

65 wHmed 117-ulledr L ewun.au-ene 65m-117 arebrm aualled erFoGUNE. m-ulile By
(1) 4 (2) 2 (3)1 (4) 3

1720-g uans anpenfiluGs b Gungl, SMHZU UST SIS SihEGSATIEN Sn (bHDH6
(1)1 (2) 2 (3)3 (4) 4

1 wpzed 10 auenpguster (Boeon® TENSEHD 2 L) SDETSHEH TONSANEID QUGG
WHa&FANW eTes

(1) 2025 (2) 5220 (3) 5025 (4) 2520
T = ('@ 100)

(1)1 (2) 2 {3)8 (4) 4
F=1,FE=3wom F =F _ +F , caé esnpssiuer F, shig
(1)3 (2)5 (3)8 (4)11

KO smLlbd Osnjauflosuisn pse 2oy 1 wHmEd eung elijFwnsd 4 aafo,
SledTeughd areomsafe o5 BH5s sl T Tauflensuic) semoub?

(1) 4551 (2) 10001 (3) 7881 (4) 13531

RO Flpd O jaufiensulen baug 2 NS 6 WLRGD T augl 2 nbler 7 WLkGD

W aafle), 55 b OFnLiauflensuier 13-aug 2 mniy

(1)o (2)6 (3)7 (4) 13

O Lo een jaifiensule 31 2 niysear 2 seTar. sper 16—aig 2 niiy m aeflo,

2556 Sal(bd OFnLjsuflensulisd 2 _atar sredeon 2 miusafien snobse.

(1)18 m (2)62 m (3)31m (4)% m
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11.

S 5ol bb OFTLTaMesuls Wwed 2 K 1 wHnKb aung EAFHLNED 4. Biss smlod
epnLieuflensuia & S50 2 NIISEDETS FallgTTE0 HHEN SahDd 120 SepLHHW0?

(1)8 (2)7 (3)8 (4) 0
12. If A=2" womh B=2"+2"4+2"4 +2° aws esnepssiulostag
63T Su(H EUETT uDIfe) & E 2 eGmenio?
(1) Byyenm A g e 2™ sifish (2) A wHmpd B 500
(3) Byyenm A-m afiL 1 sifsn (4) A sy B-m el 1 a0
13 oL LA eTeTm SFTLTeuflensuie Siha 1
T 1687127187 o e A R
(1) — (2) — @)= (4) —
24 27 3 81
14, t.4.¢ ... GSTUE QO Salbd OFM_Tauflens i, £ ¢, ¢ ... §&Tug
(1) 9B oupsEGS apnL]arflens (2) 9@ = Lo opriafiens
(3) KB Salbd OHTLIUFEDFLLIOD, ALUBESSS HSTLIafieFILL6)6
(4) o wiMdls ez auflens
15. (1" +2" 43 + .- +15" )= (142 4 3+ --- + 15) ulledr togny
(1) 13400 (2) 14200 (3) 1428 (4) 14520
add . o
Ans:
1 2 3 4 5 & 7 8 9 10 |11 [ 12| 13| 14 | 15
(3) | (1) | (2) | (3) | (4) [ a) | (d4) | (3) [ (1) | (3) | (3) [ (4) ) (2) | (2) ] (3)
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(O]

BwBsenilHLD
cdpediny wrfisafled WSS cpeimy Grflwued Foeumepsaian asTEUMNG Dieyser
Beoeneenvafle), HFO5MGAT60 2 6T SAThSET
(1) §Cr gb ysTafluilsd eu’ pHeTneT (2) §Cr 9B Ganlins aa pAaTne

(3) genmishn B g6 OLNTEHHELD (4) gevenmewnaTTy el L g
4y -3r=~-6, ~Ty+T7=z=7, 3:=9 aamn eznaUlen Siey
(1Nz=1L,y=2:=3 (2) z=-Ly=2:=3
(8) t=-Ly=-2:=3 4) z=Ly=2:=3

=22 —24 wHmEd 1 —kr —6 —uwlelt Boune (¢ —6) erefled, k —uledr LAY
(1)3 (2) 6 (3)6 (4)8
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10.

1.

13.

3g—~33 Ty—T

: — ST
¥ v
0 9 2y — 42y + 2 N —2y-
(1) 2 (2) 2% (o) ¥R,y Re =2
7 (21g —21) 34 e

B seRnL eunm)eT ayy’-}-;}—-é@éambam 0.

4 \Z 2 2
(1) Z -,H (2) g+l] (3)[;1—1—] +2 (4) y+l -2
¥ v v 4
. . 8 —uil6T SRREIL Qg aID
@ =25 & +60+5
(1) &~ Tz +40 2 2 + Ta+ 40
(@~ 5)(z +5) (2 =5)(@+5)(x+1)
(3) .1: ~7§'+4() (4) — & -+-.l()
(2% — 25)(2 +1) (28 — 25)(z +1)
org 8, 4 10
-oﬁx- y £ S axfd :
252y =
74 2 - 5 |2
(1 Bl (2) 16| (3) Bl ¥ () 2=
o v Tz 5 |ez 9w
o'+ 64 (pg UTSEHONS WIHN SMSEHL 6T 65 QHEUETEUDMIET & DSS ol L Beusiormid?
(1) 42° (2) 164° (3) 82* (4) —82°
(:2: - ])2 =10 —ule Biey
(1) -1 (2) 2 (3) -1,2 (4) Bfe srmnyd Beoemeo
4r' — 240" 76" + ar + b Q@6 W@ ITEED aefie, o wHIID b —ule WAL
(1) 100,120 (2) 10,12 (3) —120,100 (4) 12,10

G+ pir+r =0 e SNl dApORSaNsT aufssmaar, @ + pr +r =
ETENTN) FDEITUNLIG 6T epENRISET eTefleD, ¢, p, r F6ITLEN

(1) g =L ps T Faufensuiied 2_eraTer

(2) 9B LBESH T jauflensule 2 aTaTen

(3) =l s 3Ll auflens LHNID OLGESS BT Tauflens Sraonggud 2 sTeTen.

(4) B ergeyd Boene.

&5 Erlu usdgInKIS Ganenauule aIsnTULD §I

(1) GriGsny (2) eulLid (3) ugsuememTunD (4) axflug euenemuid
F+ir+4 aam Souy vonus Gsrepen X sEGsnp OeUlmD udtalsansT
FamenflSens

(1)0 (2)1 (3) 0 siedeogy 1 (4)2
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14.

16.

17.

18.

19.

-
=y
-3

asnpssiu’L sefllA =|2 4 6 8| -ssner Heoy Hye wHny sexfluler auflens

9 11 13 15
(1)2x3 (2) 3x2 (3) 3x4 (4) 4x3
A aam swwilliel euflens 2 x 3, B aeim swwilllen auflens 3 x4 arefled, A5 ereim
sexiivien Brosais aameniisans
(1)s (2) 4 (3)2 (4) 5
HIO&6T WHMED HEDNTSHET 50 sTaeniSaneuleonns sl
(1) epeevaii’ L sigwf] (2) essucus sl
(3) egum sweomf) (4) s siewl]
S Hire sexiluien, Heny BT WTHL) S
(1) a0 el (2) apeneail’ L siewfl
(3) Byed sewf] (4) Beng sl
1 3 5 7
2X + . 7]:|Q ,'] aafle, X aarn sienflenud snans.
-2 =2 2 2 ) 2
(l)l2 3 (2) % .1 (3) &% 3 (4) 9 2
2 (1 2 3
A=|3 4L B=4 5 6| du scxflsomas asrann gaams Hallsmerd
5 6 789
semaaL puuEp?, (i) A7 (i) B* (iii) AB (iv) BA
(1) (i), (ii) i@ (2) (i1), (iii) wl b
(8) (ii), (iv) wi@d (4) swemem Sgad
PR R | : 0 0
A= 3 9 1) B=|2 ~1| womp C= 5 & sTafled, SleimauheuaTeun DT aneu
2 e -2 !
0 1
5 b
am? (i) .-18-&(':[6 5] (ii) BC=| 2 -3
- -4 10
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(ii‘) 13 ‘ (. — ‘ l ]
£ *

(1) (i) wHop (i) wred

!
(iv) (AB)C = “1

2
-8 13

(2) (ii) wHmud (iii) w oD

(3) (iii) wdHmed (iv) @b (4) svemem Sgud
Ans:

(Z[3alsle[Fle[o [ [a][E[ie] 718 ][19]20
O E RN EE O EEEE R E D EE D E T
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2

6.

4. augaiwied

l;f = f;) srafied, ABC whHmid EDF eeun(g aulgtieuTH5enains
ala;mulb-
(1) ZB =LZE (2) ZA=24D (3) £B= /D (4) ZA=LF

ALMN -a8e0 ZL= 607, ZM = 50° Gugud, ALMN ~ APQR eeflé, LR —ulled 0By

(1) 40° (2) 70° (3) 30° (4) 110°

Brswuss weéBaenemd AABC -ulléd £ 0 = H)° womd A0 =5 65.15, aefle AB seng
(1) 2.5 5.5 (2) 5 @8 (3) 10 065 (4) 5v2 @B
esnpsdsiulL uLsHe ST |QR. PS =2 es.ib wHmd 0

SQ =3 osd. aafled, APQR —uller ugluaTeySESD
APST —uSer uplueTeyd @ 2 ater eASH0
(1)26:4 (2) 2% : 7

(3)25: 11 (4) 25 - 13

B ageanss wsGasneommsar AABC wHmp APQR -uler snmeteysar (WweonGw
36 ezl HMED 24 8515 HEb. PQ = 10 6518 aefied, A B—ulsh dHemd

10v6

i

(1)(»; a8 (2) -
AABC —wle> DE | BC. AB=36 688, AC =24 a5.5 wvpmwp AD =2.1 es.8
sefier, AE —uledr Bemd

(1) 1.4 658 (2) 1.8 e515 (3)1.2a8:8 (4) 1.05 as18

P T R

osif (3 m% 6.5 (4) 15 a8
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7.

10.

11.

12.

13.

14.

AABC -8 AD syewgy, LBAC -f6h @mawvear'y. AB =5 esi8, BD =6 as.b
whnd DC = 3 aF.b aafle, udsbd AC -ular Hemd

(1) 6 a5.8 (2) 4 a8 (3) 3 a518 (4) 8 az.8
a&nmSsUULL ULSHD L BAC = H° whmpd AD L BC erefie,
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